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SCHOLARS ACADEMY

a)
c)

a)
c)

a)
c)

[ REASONING ]

. e fpeft 7R Y Yoad AR 31 g 8, @ FHE

HEH B 26 ARG P P A7 & gm?

If a month starts on a Thursday, then which day will
be on the 26th of the same month?

TAAR Tuesday b) HHAR Monday
4R Sunday d) TRFAR Thursday

fu e S Tt & S U Hay B1 Ry T AR fywet
Y TP Weg T & S A Ja A1 far mar g1
Tzl b IH Fel T B Ugd Siog ot fag T8 g
T & YU Y DI AT BT 3 3R & fapeq ot
fifea sifsg

Water: Pond

There is a relationship between the given two
words. A similar relationship exists between one
pair of words from amongst the four options.
Identify the correct pair of words that has a similar
relationship as the given pair of words and mark the
correct choice.

Water: Pond
Tea: Cup b) Coffee: Beans
Hands: Pen d) Board-Chalk

SH fdoey o1 999 X S AW ug ¥ U PR
Haflra § o Yo R gERT g Usd Ug ¥ Wafid 7 o
B61 UG Ulad Ug | Hafid g1

Select the option that is related to the third term in
the same way as the second term is related to the
first term and the sixth term is related to the fifth
term.

9:27::49:?::81:729

343 b) 243

348 d) 248

fau T HyY R el #) wFyde | ag ura
gC % oy & §f ¥ SR 9@ §, ud & a8
I &Y § 31 a2 ¥ g udia g a8, FAuiRa
P P feu e el # § &9 91 YA 31 aifee
FY F IR HT B

DY :

WPot,herb%

gt herbs, green%

?ﬁgPot, Flowerqﬁ%

fase .

I: $© Flower, herb %

11: P flower, green %

11l: 9 pot, green %

Read the given statements and conclusions
carefully. Assuming that the information given in
the statements is true, even if it appears to be at
variance with commonly known facts, decide which
of the given conclusions logically follow(s) from the
statements.

Statements:

Some Pot is herb

a)

a)

c)

a)

c)

a)
c)

a)

c)

All herbs are green

No Pot is Flower

Conclusion:

I: Some Flower is herb

1l: Some flower is green

Ill: Some pot is green

Fad THY || RO b) HaAd BN (Il IR
PR & Only Conclusion PR 8§ Only Conclusion
Il follows 1 follows

Fad TpY | RV d) SWad H I By T
PR § Only Conclusion | None of the above

follow

frafifead ar ser-ayEl 4 @ & e Aida afis 4
U & 3R T fUT 81 3RTd &1 99+ Fifore?

Three of the following four letter-clusters are alike
in a certain way and one is different. Pick the odd
one out.

PQWX b) EFLM
JPQ d) MNST
& arpfa A RS B e g1d Sk

Find the number of triangles in the given figure.

8 b) 9
10 d) 12

[ U & IR e 3erT RS gwiie me &1 urd &
BT B! 1 ¥ 6 d® AGIIFd fHT MY §1 39 TE&I
BT 9 DIFY S WS '6' I Bad & AW Bad
W NI

Four different positions of the same dice are shown,
the six faces of which are numbered from 1 to 6.
Select the number that will be on the face opposite
to the one having the number '6'.

BO0E

b) 3
4 d) 5

39 el faweu &1 799 Fife = fiw U wsdf &Y
S 3R srfyef Hu & afRa Har 81

Select the correct option that indicates the
arrangement of the given words in a logical and
meaningful order.
1) Story

2) Moral

3) Words

4) Paragraph

5) Phrase
3,4,53,1
3,541,2

b) 1,25 3, 4
d) 51,243
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SCHOLARS ACADEMY

9.

a)

10.

a)
c)

11.

c)

12.

fafaf@d a9 s o 9wds 99y 'garden’ &I
E!l'l'f?lT % 3T4d ‘traditional’ &1 % g7 'modern’
P! guITaT | MR UTYW 'restaurants’ &1 gt g1 &
% SeI 39 faRiv goft ¥ wfeaal @t wem a6t
E!l'l'f?ﬁ %'I Qﬁ e restaurants, traditional % Afea T
t garden 3R 7 & modern §?

In the following Venn diagram, the trapezium

stands for ‘'garden’, the rectangle stands for
‘traditional’, the circle stands or 'modern’ and
pentagon stands for ‘'restaurants’. The given

numbers represent the number of persons in that
particular category. How many restaurants are
traditional but neither garden nor modern?

60

50

20
13 1 b\
\ 10 |40])2

130 b) 73
50 d) 52

PN & THS I WIS BT 3hH R S §U B
@ P BT W Fafarad gl § amfm g
G 9 TR 98 SIS (64 YR fe@rs 3

The sequence of folding the piece of paper and the
manner in which the folded paper has been cut are
shown in the following figure. How would this
paper look when unfolded?

/\mﬁ

I
I
“.

S~o -.

(1) () av)

\Y; b) |
[ dy 1

Frafafea gz e & vy R ) @ ufownfig
B AT &R TG BT I B |

Select the letter cluster that can replace the
question mark (?) in the following cluster series.
gWxA, fTzE, eQbl, dNdM, ?

cKfQ b) dleR

bMdO d) rDnU

fFrafafes 4 @ oH-w1 I fag W Uy § « g @t
gfd w2

Which one of the following response will fill the *
mark in the given question?

11*9*32*14*2

\___
\_____J

a)

13.

a)

c)

14.

a)

c)

15.

a)

16.

a)

c)

17.

X, +, - - b) + - -+

+, =, -+ d) x + - +

39 fIpeq &1 997 IR st & 7 @ § uy R
(?) B ufaTUda B gpar gl

Select the option which can replace the question
mark (?) in the given series.

39, 48, 57, 46, 55, 64, ?

73 b) 53

72 d) 54

gfe feu U Freg H HERT & HH &I 9ed 91, =
BODYBUILDING & & 31&RY BT SUGRT ddb 3R
TAF &R BT $ad TP dR SYINT HXP AP g
AT o1 IPd &, af T 99 <] F SAftrpan wen
1 8 gt 82

If meaningful words can be formed using
consecutive letters of BODYBUILDING without
changing the order of letters in the given word and
using each letter only once, then what is the
maximum number of such words that can be
formed?

@r Two

IR Four

39 fawey #1 999 FIT S g vg | I yHR
Hafta g fore T =t g, T ug & Wafta 31
Select the option which is related to the first term in
the same way as the fourth term is related to the
third term.

b) U®d One
d) A Three

KOX :?::JBE: Q25V
P13B b) Q11A
013C d) P12C

9 fRT T Uy # I9 e o1 9= FifE & 37
TEmst & B & quiar 8 &t o i Bt ¥ A
gl

In the question given below, select the option which
shows the triad of numbers that is different from
the other three triads.

632, 352, 974
547,412, 959

oy U Redl § § IU ey &1 ag7 FINE ot
fafafaa @ & uy /g ) # vfornfia %
F@dt g1

Select the figure from among the given options that
can replace the question mark (?) in the following
series.

b) 675, 234, 909
d) 354, 137, 491
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SCHOLARS ACADEMY

a)
c)

18.

a)
c)

19.

a)
c)

20.

a)

21.

a)
c)

22.

20

IE,
(1)

| b) I

i dy Iv

fou U ol ¥ ¥ I W& HT TG PIW W)
Fafafea e o uy fag ) & wfowifig &=
H&dt g1

Select the number from among the given options
that can replace the question mark (?) in the
following series.

99, 120, 143, 168, ?

o5
)=

(1) (111) (1v)

224 b) 255
288 d) 195
U HIS UTUT |, "pen is blue” HI "FG LM WS" & &Y

# Pifsa far ST 8, "blue water of " ®1 "GH OM
FG" & ¥ H Bifed faar sirar ? 3 "water is good”
P! "GH LM ED" & =1 # HIfSd frar &t 21 'good'
¥ foT HIs w1 gm?

In a code language, "pen is blue" is coded as “"FG LM
WS", "blue water of " is coded as "GH OM FG", and
"water is good" is coded as "GH LM ED". What is
the code for ‘good'?

LM b) GH
ED d) FG

A, R & SPadl YaH g iR SuP &Y g4t §1 B, K
HIYI 21 J, K P Uidt/afaa ik v @ aga 81 p, v
SIEl/AT 81 R, P ¥ f3@ifga 31 K, A w1/a1 :l
A is the only child of R and she has two daughters. B
is the son of K. J is granddaughter of K and sister of
V. P is the grandmother of V. R is married to P. Then
K is the of A.

Y Father-in-law b) I Mother-in-law
§aX-g1-¢l  Brother-in- d) uafe &ﬁaﬁ

law insufficient

TP fAf3d HIfed 4o &, ART - 42 3R CAR - 59 &
%ﬁﬁ%a%mm%,apoe%mmm

In a certain coded language, ART - 42, CAR - 59 then
what is the code for FOG?

53 by 47
58 d) 44

39 el fawew &1 799 Fifore ot g U sl &t
TR B U AT & HH B AJIAR ST 8

Data

a)

23.

Select the correct option that indicates the
arrangement of the given words in the order in
which they appear in an English dictionary.

1) Buttoning
2) Bushwhack
3) Bushelman
4) Butanones
5) Buttinsky
2,1,3,54
3,2,4,51

fFrafafea & @ g e srpfa &) 270° afomad
3R B 45° qraTad goiq vm R oo & S # &
T 3T T gRil?

Which of the following option figures when rotated
270° clockwise and then 45° anticlockwise will result

b) 234,15
d) 241,35

in the given figure?

24.

4R foE T uy & A9 YT R I9P a1 IiF ey
feu e &1 3mue) fou Y FYHT B HA AFEAT 8, WA
Bl 3 gd3ma aa | i wdia g1a 8f | et @) ufew
3R fAuffva FIv fF few e fAseuf & /@ S-A1
sy A= U & 919 ai @) sagaHr aid §u
fou T wy= F1 aifhe ©U A SFERT BT 8
DYH:

It cream, lotion %I

PO lotion, moisturi%ers %I

PO cream, oil-free 7l

fArep:

I. PS moisturizers, oil-free gl

Il. $© cream, moisturizers %'I

I1l. PO oil-free, moisturizers %I

In the question given below, three statements are
given followed by three conclusions. You have to
take the given statements to be true even if they
seem to be at variance from commonly known facts.
Read the conclusions and decide which of the given
conclusions logically follows from the given
statements disregarding the commonly known
facts.

Statements:

All cream are lotion.

Some lotion are moisturizers.

Some cream are oil-free.

Conclusions:

I. Some moisturizers are oil-free.

Il. Some cream are moisturizers.

lll. Some oil free are moisturizers.
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SCHOLARS ACADEMY

a)

c)

25.

a)

c)

26.

a)

c)

28.

a)

c)

29.

Tt SIRT FRA § Al b) BIs TR TG BT §
follows None follows

| 3R 11 FI SFIRRUT A d) 11 3R 111 GHY SFTIR0T vl
% Both I and Il follows % Both Il and Ill follows

afe A+B &7 31 A, B &1 fUar 8, A*B &7 31 B, A &1
YT 8, A-B BT 31 B, A BT T, A=B BT 3 B, A FI
AT R "K*J+ A*G-L+ I"TUSY H, G, 1 A fpw
If A+B means A is the father of B, A*B means B is
the brother of A, A-B means B is the son of A, A:B
means B is the mother of A. Then in the relation "K
*J+A*G-L+1", howis Grelatedto1?

fodT Father b) AWy AMEY ANy A/
BT Uncle
GIeT/AMT Grandfather d) ST/ HiST Nephew

[ GENERAL AWARENESS ]

Tiepfae fIRRIa W& & fore gave) ulRmn-w=rid
RER A GG fHT oI a8 $ga et qahax i
9T 3R SHBIST fHan # R

Qutb Shahi Tomb Stepwells and Domakonda Fort,
which won the UNESCO Asia-Pacific Awards for
Cultural Heritage Conservation, are located in

7 el New Delhi b) AT U  Madhya
Pradesh
SRHIE! Telangana d) HERIY Maharashtra

nyfe sfagra # SmaifSra g siaTiiy Siwifte
W DI AT UT?

Which was the first international Olympic Games
held in modern history?

1896 WG SiicifUds b) 1896 MMadraE Sfdfus
1896 Summer Olympics 1896 Winter Olympics

1892 WHBIGH Sfi@U® d) 1892 Tfiddieny SidU®d
1892 Summer Olympics 1892 Winter Olympics

Sy 2023 # YR frde W 3 kd
Twics wfsaw # fieet ) 317 W 91 AHER S
ol PP 3IA8RI 4T 71 U8 50 3R & UET & TS
gfaer # ofid &1 999 3fU® iR 2|
In January 2023, the Indian cricket team created
history by registering a stunning 317-run victory
over Sri Lanka at the Greenfield Stadium in
. This is the highest victory margin in the
rich history of the 50-over format.

A5 Chennai b) favaddgza
Thiruvananthapuram
RIS Dharamsala d) ﬁ'—‘ﬂ'l@T':@W

Visakhapatnam

Fafafaa & ¥ #9-a1 AR Riy ardt aar 1
Ul HeX WX Higg T8 82

a)

c)

30.

a)

c)

31.

a)

<)

32.

a)

33.

a)
c)

34.

a)

c)

35.

c)

Which of the following animals is not present on
the Pashupati seal of Indus Valley Civilization?

EiGll Tiger b) gt Elephant
‘EI-’IST Horse d) 49 Buffalo

AR MG RM P AR TS A

Munawar Ali Khan was a classical vocalist of

gharana.
2SR Indore b) I IRRYET
Chaurasia

W—U%CI'IFIT Kasur- d) RIS Atrauli

Patiala

Sham

@Tﬁﬁvrgmaﬁmmaﬁmﬁ%w%mﬁm
g;ng_}ah fFrafafed # § o19-8 d@1ed 31 Frema

Which of the following organisation was started by
Sisir Kumar Ghosh with the object of stimulating the
sense of nationalism amongst the people?

3 331 TORURE The b) T 38T & The Indian

East India Association League

fafew e TaRRA  d) Efeaq AvFa TIRERE

British Indian Association Indian National
Association

TR e o1 I 34 FT 32

What is the broad meaning of Internal Migration?

kTl &1 T 71q F G b) AfKMI BT Jfior &=f J

g T UA”™H Movement gl §  garH

of people from one Movement of people

village to another from rural areas to urban
areas

Iy F iR e &1 o) fftw 3 & S el
U9 Movement  of Pl g Movement of
people within a country people among countries

Y[sh Tt BT IS T T gl 82

What is the chemical formula of dry ice?

CO; b) NO;

SO, d) H.CO;

aHTP A URd Pt 3P 18?2

What is the rank of India in the International IP
Index released by US Chambers of Commerce?

42 b) 44

46 d) 48

319 81 & 3t DGCA B RUIE F R giai & e
waTeT ufgen urade o T 72

According to the recent DGCA report, which country
has the maximum number of women pilots in the
world?

mAustralia
HRd India

b) Ui Pakistan
d) T China

Mob. - 01141676717,9312712114
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SCHOLARS ACADEMY

36.

c)

37.

a)
c)

38.

a)
c)

39.

a)
c)

40.

a)

c)

41.

a)

c)

42.

a)

C)

YRES BT SIS TT - TARIENT &3 ¥
fere ¥y &1

Koderma Gaya - Hazaribagh belt of Jharkhand is
rich in

Qﬂi}:ﬁﬁ'qﬁ aluminium b) T lead

YD mica d) GIGH copper

Pt AT Tafd Plaga A I T STH |
3R & HRUI AT 2

The cork floats while the nail sinks. This happens
because of the difference in their:

GUHTT Masses b) Ydd Densities
Gﬁ?/W Thrust d) <dld Pressure
ot Ty & [rardier & AgiiaT & fore ifew

SR B & AT TCTAHT & TG gwAGRParsi bt
AqH @ fast gl aifge?

What is the minimum number of Rajya Sabha
member signatories required to issue the notice for
impeachment of a Supreme Court Judge?

200 b) 150

100 d) 50

Praffee & @ o ad aidia & g & e d
$fear Sut 7 iR ®1 g ur

In which of the following years the English East

India Company defeated French in the Battle of
Wandiwash?

1760
1766

b) 1762
d) 1769

21 Traﬁﬁﬁmq&aﬁaqﬁ;%mam%l Td #t
foreol yaa IR W W TSl 3

On 21st June, the Northern Hemisphere is tilted
towards the sun. The rays of the sun fall directly on

par R Tropic of b) 'J-EEHW Equator
Capricorn
PP 3T Tropic of Cancer d) B'CRfCR‘[ p= i fhal'sf Tl

None of the above

e wadadT Sfigiad & "YRd 3R 3figia’ & -
{ off ST i @2

Which freedom movement is also known as the
‘India August Movement'?

Adc IAPE  Rowlatt b) AN 3figiad  Non-
Satyagraha cooperation Movement
Sieiare §F §dis d) HRd ®rel 3igiad  Quit

Jallianwala India Movement

massacre

TRas! 2023 § URA & 7T $IT el o+ Rd & &7 F
T forgea e ma @2

In February 2023, who was appointed as the new
Drug Controller General of India?

Ioita Rig Iga=il Rajeev b) sdl3R Jogwad  BVR
Singh Raghuvanshi Subrahmanyam

T Td LC Goyal d) Udi&luTU9E PBN Prasad

Bagh

43.

a)
<)

44.

a)

c)

45.

a)

c)

46.

a)
c)

47.

a)
c)

48.

a)

c)

49.

SRt 2023 #, Fafafea & @ fow =g wer A
SrEvane gl ok FRifda afgensi @t s=7 Rian @5t
glaur & e 101 wIs v & gErE gag
HETadl SV B 990 P17

In January 2023, which of the following state
governments announced a Rs.101-crore fund, the
Mukhya Mantri Sukhashraya Sahayata Kosh, to
facilitate the higher education of needy children
and destitute women?

fSER Bihar b) YRWS Jharkhand
fgAd WS Himachal d) 3T Assam

Pradesh

XUTE WEAN WA (sco) & fadwr #haf 9 do@
HET AT B T

Where was the meeting of Foreign Ministers of
Shanghai Cooperation Organization (SCO) held?

TSRId Gujarat b) HERIY Maharashtra
T Goa d) faeelt Delhi

TR 3R 310 F 19 ygelt A ¢ frw af Tens
8 o

In which year was the first passenger train ran
between Bori Bunder and Thane?

1847 b) 1856
1853 d) 1841
Frafafaa &1 98 srargsy w82
1. TR BT g5
Il. TR BT
. f§fta sifes g
IV. ATelidIeT T X
What is the correct chronological order of the
following?
I.Battle of Plassey
I1.Battle of Buxar
I1l.Second Carnatic War
IV.Battle of Talikota
(AARIIAL b) IV.ILLII
LILILIV d) HLvLI
® AT WF 9Ten U g 3% wad
Rﬂ'e.'w q
Karam is a major native harvest festival of
fS8R Bihar b) SfIfSRM Odisha

ARWS Jharkhand d) I USH Uttar Pradesh

HR BT UgdT AP S SIH-H13 2

Which is the first national park in India?

S Pide IFA I Jim b) BT AT FAA
Corbett National Park Kaziranga National Park
iR o Iw IgE Gir d) YReA  IPI IIH

Forest National Park Sundarban National Park

e gt & day A Frafifea & @ s Tad &2
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a)

c)

50.

a)
c)

51.

a)
c)

52.

54.

a)
c)

55.

Which of the following is incorrect regarding Peat

soil?

dic B U A R Peaty b) W A @t Bt R

soils are heavy Peaty soils are black

e gt & 3= ol d) die gt o widhe SR

It gt Peaty soils UIeTR &1 A 3ff® gt

high acidic content ? Peaty soils are high in
phosphate and potash

content.

SRTETT TdT AgIHa 2023 FT Igured fPu e
gaim
The International Kite Festival 2023 was
inaugurated in which city?
R Srinagar b) SfgHaIdIG Ahmadabad
faeataqza d) PIADIA Kolkata
Thiruvananthapuram

[ QUANTITATIVE APTITUDE ]
g &1 wifye fvmar smuf ¥ 75% sifte @ SR

3ot &1 w1y forar M @ 20% &40 § Fafe Wi
o1 aiie fewrar =1 & 60% aifres 81 afg offm
TR fHee & =9 & 1500 FUA BT YA ! g,
ot g g YIrar far mar ariyes f=man faran 82
Ritu's monthly rent is 75% more than that of
Aparna, and Aparna's monthly rent 20% less than
Minu while Minu's monthly rent 60% more than
Lina. If Lina pays Rs. 1500 as monthly rent, what is
the monthly rent paid by Ritu is:

3150 ¥GY Rs. 3150 b) 3240 ¥UY Rs. 3240

3360 TYY Rs. 3360 d) 2860 TTY Rs. 2860
(4% + 7) B 45 A Ry o wran B, Y Avwa
fram grem

(44°°* + 7) is divided by 45, then what will be the
remainder?

7 b) 6
8 d) 5

PIF-HT HIUT 3 TR HIVT o1 & fagrs 8 2
Which angle is two-third of its supplement?
36° b) 72°

108° d) 120°

CosO &I W?-f H Cosec® &T HIF T iﬁ'ﬂT"

What will be the value of Cosec6 in term of Cos6?
1/4(1 - Cos0) b) 1/(1 - Cos’0)

1/N(1 - CosB) d) 1/(1 - Cos®)

TP dobl # & Uy A 3R B AT U &1 A 39 32 e
# 4R gopdT © 3R B 39 50 fiTe A @rell #% IPar g1
e A 3R B F THiaR ¥4 & Ud® TP e & forg
AT T ST 8, Y 50% Tt fpa-t sTegl R STQ?

a)

c)

56.

a)

c)

57.

a)
c)

58.

a)

c)

59.

60.

A cistern is provided with two pipes A and B. A can
fill it in 32 minutes and B can empty it in 50
minutes. If A and B are kept open alternately for
one minute each, how soon will the 50% cistern be
filled?

84 (22/25) fie b) 72(4/25) e 72(4/25)
84(22/25) min min
84(4/25) e 84(4/25) d) 80(1/25) fFe  80(1/25)
min min

The value of is : HIAAE:
cosec? A - cos? Acosec? A

1 +tan? A
b) sin’A
d) 1

cos’A
tanA

AKLM ¥ N, LM IR T% fdg 39 UoR 8 i ZLKN =
LMKN 21 TR KL = 6.5 cm 3R KM = 7 cm &, @) LN:
LM SRT&R fde=m ghm?

In AKLM, N is a point on LM such that 2LKN =
£MKN. If KL = 6.5 cm, and KM = 7 cm, then what is
LN: LM equals to?
13: 14

13:27

% 319 RIS &1 YR FMieR &1 ghar § frast
YelT 18 cm?iﬂ’fﬁ'cﬁ%l uﬁﬁﬂﬁrs'aﬁ“mﬁm cm
g, d faxifirs &1 wref ydta & e g9 S

A solid pyramid has a square shaped base with 18
cm long side. If height of the pyramid is 40 cm, then
find the lateral surface area of the pyramid.

1568 cm? b) 1476 cm®

1452 cm? d) 1542 cm?

600 TeR F TH IWeP W, TP Teie Rfys fRufa
¥ 2.5 m/s B TG A ST I¥= Bl 21 afS 98
02:30:00 3WRTE TAGISHT IR HIdT § 3R 20 FHS
gﬂ%«mm% aﬁmmeﬁw@rﬁﬁw

b) 14:27
d) 13:28

On a 600 m racetrack, an athlete starts running
from initial position with speed 2.5 m/s. If he
started running at 02:30:00pm and stops for 20
seconds, then at what time he reaches the final
position?

02:33:00 3WT&w 02:33:00 b) 02:33:20 AWIg 02:33:20
pm pm

02:34:20 WM& 02:34:20 d) 02:34:00 AWRTg 02:34:00
pm pm

TP gHE | U I Ft J1Et 3R 7D %gﬁ

T 3ifd T FHHI: 900 TUY 3R 700 FUA 21 ITMH
P wifedl W "2 TS 1 gua a3k et wifeal v
UM "5 WIS 2 R UTT" B U=HT 3t 18 A1 afg
wmﬁrﬁmaﬁw@u‘r%ﬁqumomﬁm
YT fFar 3R g8 Y= 39S gRT gl aifsal &
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a)
c)

61.

a)
c)

62.

a)
c)

63.

a)
C)

R Y= Ft 1€ o= A | 3100 U FH B, @
I o fra-t aifear @R

The marked price of each silk saree and each cotton
saree in a shop are Rs.900 and Rs.700 respectively.
There was an offering of "buy 2 get 1 free" on silk
sarees and "buy 5 get 2 free" on cotton sarees
respectively. If a person paid Rs.14400 for silk
sarees which is Rs.3100 less than the amount paid
by him for cotton sarees, then how many sarees did
he buy in total?

63 b) 61
57 d) 59
T, U 3R VA 1 99 & forg AT 3. 3200, T. 3600 3R

¥.1600 FT A HIP TP WSGR Fl I U H1
fewr v & iR & 200 ot B, @ T 31 i wa
Fifog

T, U and V entered into a partnership by investing
Rs. 3200, Rs. 3600 and Rs. 1600 respectively for 1
year. If the share of U is 200 more than the share of
V then find share of T.

%.510 Rs.510 b) ¥.430 Rs.430
%.280 Rs.280 d) 2.320 Rs.320
The bar graph given below represents the number

of boys in a school using three apps for three
months.

ﬁﬁmwmwﬁnﬁ%ﬁq?ﬁqﬁqm
G'Cl'lﬂ'lT PIb TP I5d H ASDI Pt GG BT YlafAiUa

ol
ﬂWhatsz_; ) OFacebook BHike
[4E62
800 - § §
eE 7004 8 @
° o © 4o o -

B 6004 S— S & 5 1
500 + ‘D - e < o
ol e MR [N
300 4 |- % |24 ke

EE 70l B L i
100 4 | iy i

danug‘ry February March

Month /AgHT

What is the total number of boys using the three
apps in the month of March?

A & A H dF1 BU BT ITIRT S aTet aS bl Bl

o T T 3?
1420 b) 1425
1450 d) 1460
ﬂﬁ[3a+(;) 4)2:25§H?ﬂa>0%fﬁ{9a2)+[%)Wﬂﬁ%z
a
1
If{3a+(:;)—4)2:25‘anda>[];thenthevalueof[9a2)+(—2)is:
a
87 b) 73
85 d) 75

64.

a)

c)

65.

a)
<)

66.

a)

c)

67.

a)

c)

68.

a)

c)

69.

a)

c)

70.

2
g sx+L=1 8 @ XY T X e 3
X 5x7 - x2

5x2 +y + X i
5x% - x2

2y b) -2/y

y d) 2/y

fFrafafea aeie &1 avige 9 S|

Find the square root of the following expression.
(4X2 + 3 + 443X) (X2 + 12 - 443X)

b) (X-2V3)(2X +V3)
d) (X +2v3) (2X + V3)

If 5x + 3(—’ = 1, then the value of

(X + 2V3) 2X - V3)
(X - 2v3) (2X - V3)

TP gTsfhd 20 km/h &1 919 ¥ 9 fiFe ® vs fAfda

&t 79 TRt 81 afe arsfera 15km/h @ S TUE

gt;um?ﬁ% al 39 gfl 31 79 FA § Aigfed grR
T {HY J1d HIfeg|

A bicycle covers a certain distance in 9 minutes at

the speed of 20 km/h then find the time taken by

the bicycle if it covers the same distance at 15km/h.

15 ffFE 15 minutes b) 20 fBFe 20 minutes
10 fBE 10 minutes d) 12 8T 12 minutes

1 + sinA - cos? A
cosA(1 + sinA)

sec? A - tanA + Wﬂﬂ%:
1+ sinA- cos2 A i
cosA(1 + sinA)

b) 2tanA

d) 2cotA

The value of sec A - tanA +

cos’A
sec’A

¥.1800 B Teh YRR ATYRUN T H1 U FAfdd ®
R 19 qul # ¥.2232 g 91 31 S <A B R A 4
P gig Bt w1 8, o Fu 4= 5 auf § fpat g
STE?

Rs.1800 becomes Rs.2232 at a certain rate of simple
interest in three years. If the rate of interest is
increased by 4, what amount will Rs.1800 become in
5 years?
%.2880 Rs.2880
®.2630 Rs.2630

b) %.3040 Rs.3040
d) ¥.3200 Rs.3200

THAXYZ H XY = 3 cm, YZ=5 cm 3R ZX= 4 cm B
e w, wvzw@awﬁgsﬂm%ﬁ?
YW=WZ 8, @ XW @ daTs 31d BIfoe|

Ina AXYZ, XY=3 cm, YZ=5cm, ZX=4 cm. If Wis a
point on side YZ such that YW=WZ, then find the

length of XW.
125 cm b) 25cm
5cm d) 3cm

The bar graph shows the number of employees working
under the six different Departments (A, B, C, D, E, F) of a

Mob. - 01141676717,9312712114
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a)
c)

71.

a)
c)

72.

a)
c)

73.

a)
c)

74.

certain company. Study the diagram and answer the
following questions.

IR 1% U fAfdd su & o8 faft faumn (g, f, =,
31, §, Th) & dgd BTH H1 d1d HHATRY] BT H-AT HY
mﬁ%%I 3T BT Ay HY 3R fFgfefaa usi &
I

30

-

u 25

v 2' —

35

B

g 15

@ % 15

% . 10

-~

6 5
ellnllolle
z
A B C D E F
Depmmentlm

Which Department has the second highest number of
employees?
fa fum & il 9 wen e ofire @2
6255 b) 6795
6695 d) 6785

7 Sl PT 3RId 30 B 1 Ugl IR TB3i HT hwd
20 g1 UTadl BT, Tt WBI A 8 A g1 ifaw @&,
Tt e SEnsit ¥ siad | 10 3iftw @, <t uradl
IR TS = F1 3Nwd fpaan 32

Average of 7 numbers is 30. Average of first four
numbers is 20. The fifth number is 8 less than the
sixth number. The last number is 10 more than the
average of all seven numbers. What is the average
of fifth and sixth number?

40 b) 45
42 d) 44

g x TP YATHS W 3, of e & @ 5w fim o
A 99 i 32

If x is a positive number, then which of the
following fractions has the greatest value?

1/x b) x/(x+1)

(x+1)/x d) (x+2)/(x+3)

g T 7 BT faevf (a +16) cm § SR T 31 dawa
AR A FERRT #d PH-TT AT 2A FAF &
TR 3?7

If diagonal of a square is (a + V6) cm and area of
square is A, then which of following expression is
equal to the value of 2A?
@%+ 2 + 2av2)

(@’+ 6 + 2a\6)

b) (a’+ 3 + 2aV3)
d) (a°+ 4 + 4a)

There are six taxi companies (A, B, C, D, E, F) in a certain
city. The bar graph shows the number of taxis run by each
of these six companies. Study the diagram and answer the
following questions.
e fAf3a wew & o8 et suftmi @ &, @, &,
TP) 21 IR U 3 B¢ HUHAl A 9 TP gRT Ias
WM Tl fRaal Bt WEen $ gxifar 31 oRE @

Mob. - 01141676717,9312712114

a)
c)

75.

a)

c)

76.

a)

77.

a)

c)

78.

c)

79.

a)

Jggd HY SR fufaf@a usf & I 2

120

Number of taxis

Which taxi company has more taxis than A but less than

D?
fra eRt U & U A @ 3 SR g Afp0 @
FHE?

B b) F

C d) D

TGUT F TR BT 8- (2x - 4), 3x, (x + 6) 3R (4x - 2).
T BI DIV BT UM fHa-m 82

Four angles of a quadrilateral are (2x - 4), 3x, (x + 6)
and (4x - 2). What is the value of smallest angle?

36° b) 39°

4 d) 45°

[ ENGLISH ]

Select the most appropriate meaning of the
underlined idiom.

The manager and the workers at the factory decided
to bury the hatchet when the strike was affecting
both parties.

Part their ways b) Make peace

Bury a huge investment  d) Make the situation worse

Select the option that can be used as a one-word
substitute for the given group of words.

A person who conforms to accepted behaviour or
established practices.

Indelible
Notorious

b) Stranded
d) Conformist

Select the most appropriate ANTONYM of the given
word.

Expedite
Hasten b) Hinder
Pretend d) Accelerate

Select the option that expresses the given sentence
in reported speech.

Cersie says, "My children will sit on the Iron
throne.”

Cersie said that
children would sit on the

her b) Cersie says that her
children would sit on the
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c)

80.

81.

a)
c)

82.

a)
c)

83.

a)
c)

84.

I[ron throne. Iron throne.
Cersie says that my d) Cersie says that her
children will sit on the children will sit on the
I[ron throne. Iron throne.

Select the option that expresses the given sentence
in passive voice.
You should wear this pantsuit.

This pantsuit should been b) This  pantsuit  should
worn by you. being worn by you.

This pantsuit shall be d) This pantsuit should be
worn by you. worn by you.

The following sentence has been split into three
segments. Ildentify the segment that contains a
grammatical error. If the sentence is error free,
mark ‘No error' as your answer. There are/ a dozen
eggs kept/ inside the refrigerator.The following
sentence has been split into three segments.
Identify the segment that contains a grammatical
error. If the sentence is error free, mark 'No error’
as your answer.

There are/ a dozen eggs
refrigerator.

kept/ inside the

a dozen eggs kept b) No error

There are d) inside the refrigerator

The following sentence has been split into four
segments. Ildentify the segment that contains a
grammatical error.

My parents let me to go to my friend's house by
myself.

my friend's house b) let me

togoto d) by myself

Select the option that will improve the underlined
part of the given sentence. In case no improvement
is needed, select 'No improvement required’.

They can be able to justify those figures because
movie studios know these big names put filmgoers
in theatre seats.

can be abled b) could be abled
d) No

required

are able to improvement

The given item in this section consists of a sentence
the parts of which may or may not have been
jumbled. These parts have been labelled P, Q, R and
S. Given below the sentence arefour sequences
namely (a), (b), (c) and (d). You are required to
arrange the parts of the sentence and mark the
response accordingly.

In 1970, amphetamine use was

P. the Controlled Substances Act

Q. addictive properties

R. dramatically curtailed by

S. which acknowledged its

a)

c)

85.

a)

c)

86.

a)
c)

87.
a)
c)

88.
a)
c)

89.
a)

90.

a)

c)

91.

The correct order should be
PSQR b) QPSR
RPSQ d) SRPQ

Select the most appropriate option to fill in the
blank.

Nothing great in the world without passion.
will accomplish b) has been accomplishing

has accomplished d) has been accomplished

Select the option that can be used as a one-word
substitute for the given group of words.
The evolutionary history of a kind of organism.

b) Genetics
d) Taxonomy

Etymology
Phylogeny

Select the INCORRECTLY spelt word.
b) barricade
d) dissatisfied

quarelled
prosperity

Select the most appropriate ANTONYM of the given
word.

Judicious
Prudent b) Foolish
Canny d) Hospitable

Select the INCORRECTLY spelt word.
underrate b) vehicle

occassionally d) playwright

Select the most appropriate meaning of the given
idiom.

In for a penny, in for a pound

Making the most of the b) To participate in
worst situations or things something

because you can't do

anything about it

Being grumpy or angry d) Doing something that

about something makes it impossible to go

back to the original state

(91 - 95)In the following passage, some words have
been deleted. Read the passage carefully and select
the most appropriate option to fill in each blank.

Fat may not _ (A)__ like something you want in your
diet, _ (B)__ not all fat is bad. In the right form and
right amount, dietary fat is an important nutrient
for _(C)_ good health. Dietary fat is one of the
three macronutrients that make up the bulk of our
diets, alongside protein and carbohydrates. _ (D)__
decades health professionals blamed dietary fat for
causing myriad health problems. But in recent years,
studies have __(E)__ that eliminating all fat from the
diet doesn't entirely solve the problem.

Select the most appropriate option to fill in the
blank A.

Mob. - 01141676717,9312712114
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a)

92.

a)
c)

93.

a)
c)

94.

a)
c)

95.

a)
c)

96.
a)
c)

97.
a)
c)

98.

a)

99.

a)

100.

saw b) seen
seem d) sighted
Select the most appropriate option to fill in the

blank B.

moreover b) but
besides d) instead
Select the most appropriate option to fill in the

blank C.

spoiling b) worsening
using d) maintaining
Select the most appropriate option to fill in the

blank D.

from b) for
since d) to
Select the most appropriate option to fill in the

blank E.

been found b) founded
finds d) found
Select the most appropriate synonym of the given

word.

Filthy
Sterile b) Aromatic
Crowded d) Sordid

Select the most appropriate synonym of the given
word.
Ostentation

Modesty b) Famished
Flamboyance d) Clandestine

The following sentence has been split into three
segments. ldentify the segment that contains a
grammatical error. If the sentence is error free,
mark 'No error' as your answer.

We were welcome / gracefully by the / host at the
dinner.

We were welcome b) gracefully by the
No error d) host at the dinner
Select the most appropriate meaning of the given

idiom.
Like two peas in a pod

very different b) very similar
similar in appearance d) very close friends
Select the option that will improve the underlined

part of the given sentence. In case no improvement
is needed, select 'No improvement required'.

If deforestation and global warming continues,
thousands of acres of land is in danger to undergo
some serious damage

a) No
required

c) Are in
undergoing

improvement b) s in danger of
undergoing
danger of d) Arein danger to undergo
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